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[1]. Y2 A A T U Y= A (Business Intelligence)

[2]. CIM (Computer Integrated Manufacturing)

[3]. OSI M7 /L (Open Systems Interconnection Reference Model)

[4]. HTTP (Hyper Text Transfer Protocol)

[5]. OSS (Open Source Software)
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[1]. TCP I W CHEEMERECIN B MERE A B2 5 2 & 72 < WISHIIC IR O HEif &2 M 5 Tk &
L C. EIEMERRIGE (delayed acknowledgement) & Nagle Algorithm 23% %, = E i
WZOWTHRIZEHI L, ED X I RBEITHEN S L0 E R,

[2]. TPv6 (23U T, /—# (router) TO & HALEL D 72 D12 IPv4 7 b AT S FLT-HERE & %510
X

[8]. IPv6 28175 A7 — h L AT KL 2 HEhERE (stateless address auto-configuration)
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[1] L FOKMHFEIC W TREIBE &

a. 74 v 7 (phishing)

b. Hadoop

c. v = Bif(Hash function)
d. 7747 VU4 —/firewall)

[2]. 4 % —=x v h(Internet)Z331F % EHE(copyright |2 DT, 1> TV D Z & &k
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